Whitman College

Econ 308

Final Exam

December 17, 2008

Write all answers in your bluebook.  Show all of your work.  The exam ends at 11:30.

1.  (20pts)   In November 2008, the United States unemployment rate was 6.7%.  Twelve months earlier, the unemployment rate was 4.7%.  What exactly does Okun’s law suggest happened to real Gross Domestic Product in the U.S. over those twelve months?

2. Suppose that an economy has a Cobb-Douglas production function and perfectly competitive markets.  

(a)  (5pts)  Draw a graph showing the real aggregate output this economy could produce at various levels of capital, assuming it has a constant supply of labor.    Be sure to label your axes.  

(b)  (10pts)  Define the marginal product of capital.  Explain how to use your graph from (a) to determine the marginal product of capital at a particular quantity of capital, K1.  On your graph, indicate K1 and the marginal product of capital at K1.

(c)  (10pts) With quantity of capital on the horizontal axis and the rental price of capital on the vertical axis, derive a curve that shows the highest amount firms would be willing to pay for capital.   Explain how you derived this demand curve for capital, and be sure to define any terms that you use.

(d)  (10pts)  Suppose the quantity of labor decreased, with all else unchanged.  Explain what would happen to the demand curve for capital.  How does the decrease in labor change the equilibrium rental price of capital?  Refer to a new set of graphs in your explanation.  

3.    Consider the Cobb-Douglas production function where real aggregate output Y is given by   Y = A K(LxE)1-,  in which A=10 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and =0.30. Here, E indicates the effectiveness of each worker, so that LxE is the amount of effective workers employed.  The depreciation rate in this economy is 0.06, the savings rate is 0.30, the population grows at the rate 0.02, and the measure of labor effectiveness, E, grows at the rate 0.01.

(a)  (15) Find the steady-state level of investment per effective worker (i*=I/(LxE)).  

(b)  (10pts)  After this economy reaches its steady-state, will standards of living improve in later years?  Explain your answer.

(c)  (15pts) Find the golden rule steady-state level of capital per effective worker.

4.  Suppose that the following information about Country A and Country B.  Assume that the Fisher equation holds, and that Purchasing Power Parity holds.

At the end of 2000, Country A had a Consumer Price Index (CPI) of 100, an annual nominal interest rate of 4.5%, and everyone predicts that Country A’s CPI will be 102 at the end of 2001.  

At the end of 2000, Country B had a Consumer Price Index (CPI) of 300, an annual nominal interest rate of 7.5%, and everyone predicts that Country B’s CPI will be 315 at the end of 2001.  

At the end of 2000, Country A’s exchange rate was 3.00, i.e. it took three units of B’s currency to buy one unit of A’s currency. 

(a) (10pts) What is the expected annual real interest rate in Country A at the end of 2000?

(b) (10pts)  At the end of 2000, what do people expect Country A’s exchange rate will be one year later?   (In other words, how many units of B’s currency do people predict it will take to buy a unit of A’s at the end of 2001?)

Suppose now that the actual CPI in Country A at the end of 2001 is 105, and the actual CPI in Country B at the end of 2001 is 309.  

(c)  (10pts)  What was the actual annual real interest rate in Country A over the year 2001?

(d) (5pts)  What is Country A’s exchange rate at the end of 2001?   

5.  The Federal Open Market Committee (FOMC) met yesterday and announced a historically low target range for the federal funds rate of zero to ¼ percent.  In the statement that it released to the public, the FOMC wrote  “the Committee anticipates that weak economic conditions are likely to warrant exceptionally low levels of the federal funds rate for some time.”  The Fed also took the unusual move of convening a press conference after the FOMC meeting.  In that conference, a Fed spokesman said that the Fed thinks Congress will implement a spending package to help lift the economy out of recession, and this “fiscal stimulus … has been incorporated into the Fed’s forecasts.”  

Consider the effects of these loose monetary and loose fiscal policies, using the IS-LM model.

(a)  (15pts)  Why does the IS curve shift right-ward when government implements fiscal stimulus?  Explain, with reference to a Keynesian Cross graph, and an IS graph.

(b)  (15pts)  Why does the LM curve shift right-ward when the central bank loosens monetary policy?  Explain, with reference to a money supply and money demand graph, and an LM graph.

(c)  (10pts)  According to the IS-LM model, what would be the results of this combination of loose monetary and loose fiscal policy?  Refer to an IS-LM graph in your answer.  On your graph, be sure to indicate where the natural rate of output is.

Now consider the effects of these loose monetary and loose fiscal policies, using the Keynesian sticky wage model.

(d)  (15pts)  According to the Keynesian sticky wage model, what would be the results of this combination of loose monetary and loose fiscal policy?  Refer to an AS-AD graph in your answer. On your graph, be sure to indicate where the natural rate of output is.   (You do not need to derive the AD curve.)

(e)  (15pts)  According to the Keynesian sticky wage model, what would be the results if the Fed and Congress did not implement their loosening policies?  Refer to an AS-AD graph in your answer. On your graph, be sure to indicate where the natural rate of output is.   
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